GITZ0

monopods






GITZ0O

monopods



Instructions/Istruzioni/Gebrauchsanweisung/Mode d’emploi




/Instrucciones/{EFR A/ AL M H M /(ERHAE




English

FIG. 1 - Extending the leg
Turn all the twist locks 1/4 of a turn at the same time,
then pull the leg down and tighten the twists individually.

FIG. 2 - Reversible 3/8” or 1/4” fixing screw

FIG. 3A - Replaceable foot
In case the foot becomes worn, it can be replaced easily
with a new foot (available as a spare part).

FIG. 3B - Interchangeable foot
Interchangeable with Gitzo universal foot accessories.

FIG. 4 - Maintenance

The internal thread of the leg locks can be cleaned and
greased to perform optimally. Turn the twist lock until the
thread is exposed, and remove any dust or sand with a
cloth. Apply a small amount of grease (sold separately:
GSGREASEO02) onto the thread, and turn the twist lock
until it is locked.

In addition to reading these instructions, it is also
important to read the general instructions printed on the
warranty card packed with your product.



Italiano

FIG. 1 - Allungamento delle sezioni

Ruotare tutti insieme i collari di bloccaggio di 1/4 di giro
in senso antiorario, quindi abbassare le sezioni e serrare
i singoli collari nella posizione desiderata.

FIG. 2 - Vite di fissaggio reversibile da 3/8” o 1/4”

FIG. 3A - Piedino sostituibile

Nel caso di usura, il piedino puo essere facilmente
sostituito con un piedino nuovo (disponibile come
ricambio).

FIG. 3B - Piedino intercambiabile
Intercambiabile con gli accessori universali Gitzo.

FIG. 4 - Manutenzione

La filettatura interna dei manicotti pud essere pulita
e lubrificata. Ruotare il manicotto di bloccaggio fino
ad esporre la filettatura, e rimuovere la polvere o la
sabbia con un panno. Applicare una piccola quantita di
grasso (venduto separatamente: GSGREASEOQ2) sulla
filettatura e ruotare il manicotto fino a bloccarlo.

Oltre a leggere le istruzioni del presente prodotto, &
importante leggere le istruzioni generali fornite con il
prodotto.



Deutsch

ABB. 1 - Beinauszug

Alle Twistlocks mit einer V4 - Drehung &ffnen und das
Stativbein ausziehen. Danach die Twistlocks einzeln
verschlieBen.

ABB. 2 - Umkehrbare 3/8” oder 1/4” Fixierschraube

ABB. 3A - Austauschbarer FuB
Ein abgenutzter FuB lsst sich problemlos austauschen
(erhaltlich als Ersatzteil).

ABB. 3B - Austauschbarer FuB
Austauschbar durch optionales Zubehor.

ABB. 4 - Wartung

Zur einwandfreien Funktion kann das Innengewinde
der Beinverschliisse gereinigt und eingefettet werden.
Drehverriegelung so lange drehen, bis das Gewinde
freiliegt und eventuell Staub oder Sandkérner mit
einem Tuch entfernen. Das Gewinde leicht einfetten
(Schmierfett separat erhaltlich: GSGREASE02) und
dann die Drehverriegelung so lange drehen, bis sie fest
verriegelt.

Bitte lesen Sie neben dieser Anleitung auch die
allgemeinen Hinweise auf dem Garantieschein, der
lhrem Produkt beiliegt.



Frangais

FIG. 1 - Extension des jambes
Tournez tous les verrouillages rotatifs d'un quart de tour
simultanément, puis tirez la jambe vers le bas et verrouil-
lez les sections individuellement.

FIG. 2 - Vis de fixation réversible 3/8” ou 1/4”

FIG. 3A - Rempacement d’embouts de jambes
Dans le cas ou les embouts de jambes deviennent
vieillissants, ils peuvent étre remplacés trés facilement
par un modele neuf (disponibles également en tant que
pieces détachées).

FIG. 3B - Pieds interchangeables
Les embouts de pieds sont interchangeables au travers
des accessoires universels Gitzo.

FIG. 4 - Maintenance

Les vissages internes des jambes peuvent étre nettoyés
et graissés pour retrouver leur performance initiale. De-
vissez le serrage de section jusqu'a faire apparaitre le
pas de vis, puis retirer la poussiére et le sable avec un
linge propre. Appliquez ensuite une petite dose de graisse
(vendue séparément: GSGREASEO02) sur le filletage,
puis revissez le verrouillage de section complétement.

En plus de la lecture de ces instructions, nous vous re-
commandons de prendre connaissance des instructions
générales imprimées sur la carte de garantie livrée avec
votre produit.



Espanol

FIG. 1 - Extendiendo las patas

Gire todos los bloqueos (twist lock) 1/4 de vuelta al
mismo tiempo, a continuacion estire la pata hacia abajo y
apriete los bloqueos de giro (twist lock) individualmente.

FIG. 2 - Tornillo de fijacion reversible 3/8” 0 1/4”

FIG. 3A - Pie reemplazable

En caso de que el pie se deteriore, se puede reemplazar
facilmente con un nuevo pie (disponible como pieza de
recambio).

FIG. 3B - Pies intercambiables
Intercambiables con los accesorios de pies universales
de Gitzo.

FIG. 4 - Mantenimiento

La rosca interna de los bloqueos de las patas se puede
limpiar y engrasar para lograr un funcionamiento 6ptimo.
Gire el bloqueo hasta que la rosca quede a la vista,
y elimine cualquier suciedad o arena con un pafo.
Aplique una pequefia cantidad de grasa (se vende por
separado: GSGREASEO2) en la rosca, y gire el bloqueo
hasta su cierre completo.

Ademas de leer estas instrucciones, es también
importante leer las instrucciones generales impresas en
la tarjeta de garantia que se entrega con su producto.



B

B 11— EHEE
THBEMNER /48, RESHERNF, ZEH
Rt AlieE. .

E2-a4)i%k3/8” =;1/4” EEIRLE

EI3A—FIEIRIIET
MRBEETAIET, AT ME—MNRHET#TE R,
(MBI FHTH)

EI3B— AT A #&RIET
A5 Gitzo@RMET B B R,

El4— 4P

FIERIIE B AETS A E T MM TIEIB . R
B TERERRHIRY, BRRLLSRARS, B
NERUH (58 GSGREASEQ2) RHHEIMRELL,
RETEFRIEHE R E,

BRTFEAGARS, HRESKIPREF LA
RiRARFER,



gt=0{

FIG. 1- E2}0|E= Cl2| ”xX|7|

DE EQIAE 242 1/44 SAl0| B2l
cl2|E Yoz Wa|n A EQAE 2t
rshel =)

1o ok

)
0|23l

=

FIG.2-3/8" M LIALEE1/4" TFLIAL

FIG.3A - L&Al £
arel ol sigtg

M= ,MER Zo2 £ uA
Jts#c (&

a2
o= Fof 715)

AE FUHA X dAMM2|et 28 TtsEH

FIG. 4 - HIE 22|
Z| N5t El 58 2ol 2l 2t LR ol LAt
st REFE HIE = AFUCH HAY
LIARMO] 2 w7t X EQIAE 2le &3 & &,
e AtZsto] WAL 23| & AT C 22k
J2|AS(HEEofaE: GSGREASEO2) LiALAtOf
HHE & CtA] EQIAE 2to| HZ mi7tx| E2{F U ch
SHiE dHAQL 20| MES EEE
7.

Ft=of
HAIE ALS MHME SX|stAlE A g

=%
£ EQeLch



B3

E1 - B fsiE
MOITNTOOYY )7 %EEHC /AREED Tl %
FlEHL. RICENZThOOY I & BRSO E T,

B2 - 3/8"-1/4" ) N\—Y D IVEIE %Y

BI3A - AT RER 2R
ARHDEFLTELSHEICHLNAR (AT /N—
V) ERBTEER T,

3B - Bt
RERBDARE. Vv YA RIFRVARET 72 )—&
I BTENTEET,

B4- X7+ VR

RBGEREA I IO MOV RO I \LEF
BLIV—RERETHIENTEET. OV VT %
XD BEITZETEL A TRIVPHERUBRE
£, ZIVILICDEDT—X (FIFEGSGREASE02) %
ZFEL.OvIUVIEEILTAYILET,

COERFHRBAZEDEHC. FNEDRIFEZICREH INT
WE—RIERET—F<EE0,









GITZ0

gitzo.com

monopods
110070K - 09/2016



